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1. Answer the following questions : 1x10=10
o PR T fil
(@) Write the formula for normal
distribution.
4139 o9 Jactn o |

(b) Which test is used to test the association
of attributes?

RN ol o SR e AA 9
[?

A23/854 ( Turn Over )



BIKALI COLLEGE LIBRARY

( 2)

(c) What is ordinal scale?
TS 1 32

(d) Define coefficient of determination.
AP 2R R forn

(e) What does E(u;) =0 mean for random
term in a regression line?

GOl T AR AR RSAR IR
E(u;) =0 9 R 5pr2

() What is type-I error?
Type-1 & &2

(g) Define confidence interval.
ASTHY IR ST |

(h) What is multicollinearity?
I-5E R 2

() When does heteroscedasticity arise?

Reafivew fom Teg = 2

() What is the difference of Binornial and
Poisson distribution about mean and
variance?

IEFAIE WF e RSIR Y WE AR
A7 & 2
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2. Answer the following questions : 2x5=10
Tod PTRd el o
(a) Write two properties of F-test.
F-o e 751 ¢3PEs forn o
(b) What are the two uses of t-test?
t-~ire Yo AR foidn |

(c) When does binomial distribution tend to
normal distribution?

WA [{orq @fom MR Rears Rk

7 :

(d) Distinguish between one-tailed test and
two-tailed test.
GF-(TERAE IF T2-CERAE AR TS
o133 fordt 1

(e) Write the full form of BLUE.

BLUER < SeRce! o1 |

3. Answer any four of the following questions :
5x4=20

ool PR R e wifReE T fram

(a) Define power of a test. What are the
various steps of hypothesis testing?

AR TR A O | qFw AR Rfew
W[ ford |
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(b) Write a short note on forecasting.

JfieP 9o S Wfb 5 COrT fora |

(c) The life of an electric bulb for a random
sample of 10 from a large consignment
gave the following data :

Rem : 1 2 3 4 5 6 7 8 9 10

Life :46 4 39 54 4238 3 4456 6
(in 000 hours)

Can we accept the hypothesis that the
average lifetime of bulbs is 4000 hours?

OB 28 QAPRSE Im Pl vy o[ AfRs-
©d 1061 IEd Qe SHo W $&ed Rl
S’ :

¥ :1 2 3 4 5 6 7 8 9 10

&7 : 46 4 39 54 42 38 3 44 56 6
(’000 Y1)

JEA T EEFE 4000 WO I 4R w37
ATCATC 7 A1 F41 |

(d) Explain the differences between auto-
correlation and multicollinearity.

TR WEF RTTTIEE TS ANYH
ATl F4T |
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(e) Explain the method of measuring the
goodness of fit in a multiple regression
model.

I8 A WY Bay @Sl Ry I/ RS
T 47

(/ How can the inclusion of irrelevant
variable create problem in regression
analysis? Discuss.

e Romae wapefe et swefea
TR ST 3712 PR *1Cq, A6 F47 |

4. Answer the following questions : 10x4=40
God 2PPTRE B fu

(a) In a two-variable linear regression model
Y; =a+BX, +u;,, where a and [ are
parameters and u, is stochastic term,
find the mean and variances of & and f,

where & and ﬁ are estimates of o and f. 10

Y; =a+BX; +u, 91 fR-veie CIRT SnmA
RS, I*S o SF P 2AT5e W SF u, Fio M 2,
& TF BT T TF PRI IS TS & TF

2 o HF I HFA |
Or / 91

Explain the methods of detecting multi-
collinearity. How can the problem of
multicollinearity be solved? 6+4=10
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IL-THTH 4] (O[ER] ARSI AN 41 | I2-
ATTHR T (IR TNYH IR o1 2

(b) From the following table, find the
coefficient of determination of the
regression line Y =a+bX +u : 10

Ted S o[ AT R4 Tfesq e
AT RICA Y =a+bX +u = :

Y : 10 18 16 20 26
X : 10 20 30 40 S0
Or / 9§

Explain different types of hypothesis.
What are the properties of
F-distribution? A survey of 240 families
with 4 children each revealed the
following distribution :

No. of boys : 4 3 2 1 0
No. of families : 10 55 105 58 12

Is the result consistent with the
hypothesis that male and female births
are equally probable?

(Given that P(x2 >a)=0-05, where x2

follows Chi-square distribution with n d.f.
anda=7'81,949, 11:07 whenn=3, 4, 5
respectively) 2+3+5=10
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a5 RS dFRER Imm F |1 F-REar

2RI’ 3 2 240001 RS 4513 B G0

HPTHES SoTS Wl 44T RSAT R o7’
'3 7T : 4 3 2 1 0
yRFEI e : 10 55 105 58 12

ofFY WF TRE TR RA A (TR SAFHCOT

e I 2

(e sm= P(x2 >a)=005, IS x2 27

Chil RS9 n FoF TIR OTS ¥
a=781, 9-49, 11-07 @™ n &N 3, 4, 5)

(c) Explain the consequences of auto-
correlation on OLS estimation. How can
autocorrelation be corrected? 4+6=10
OLS 9HFaaA® TW-JAJQId FAFARE AN
341 | 9% TP @R ST A1f] 2

Or / 991

A random sample of 5 families yields the
following data :

Family : A B C D E
Savings (S) ('000) : 6 12 10 7 3
Income (Y) ('000) 8 10 9 6 6
No. of children(N) : S 2 1 3 4

Estimate the regression line of S on Y
and N. 10

A23/854 ( Turn Over )



BIKALI COLLEGE LIBRARY

( 8)

wers g SO SfueR AW (9), W (Y) WE
ST A (N) YR #[1 qMRFSR Y HF NI
ARATHE ST AR {1 Sforeay ¢

33 A B C D E
7®Y(S)(000) : 6 12 10 7 3
W (Y) ('000) 8 10 9 6 6
TEHEKIM(N): 5 2 1 3 4

(d) Explain the concept of errors in variable
in OLS estimation. Briefly explain various
methods to solve the problem of errors in
variable in such estimation. 4+6=10

OLS HFee boipd @Fibd 4HRDl TRM <41 |
R TS 5o TR STOEARR TR oTZ
SYLF SCATAT 41 |

Or / 9_T

Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy
variable in seasonal analysis? Explain.

S5+5=10

Ao W ARIER &Y A RAwRAR voie
T I T W, I T Aofefes
Rer crae RamRkie e v IR =
T ? HICADAT 91 |

* % %
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